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B 48 52 1 4 20 20 3 15,0 1 33.3
£ X 1 6 0 1 6 6 0 0.0 0 0.0
+ | 5 4 0 0 1 1 1 100.0 0 0.0
| E 4 10 0 1 2 2 0 0.0 0 0.0
& W 3 3 0 1 2 2 0 0.0 0 0.0
B H 0 0 0 0 0 0 0 0.0 0 0.0
X & 0 1 0 0 1 1 1 100.0 1 100.0
A 9 10 0 1 3 3 0 0.0 0 0.0
X B 2 3 0 0 0 0 0 0.0 0 0.0
EF 5 4 1 0 2 2 0 0.0 0 0.0
t 18 1 0 0 0 0 0 0 0.0 0 0.0
EHh 12 11 0 0 3 3 1 333 0 0.0
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A A % A % A A % A %
B 8 1 12.5 1 100.0 17 2 11.8 1 50.0
£ X 0 0 0.0 0 0.0 3 1 33.3 1 100.0
+ | 0 0 0.0 0 0.0 1 0 0.0 0 0.0
|E 1 0 0.0 0 0.0 2 0 0.0 0 0.0
il 1 0 0.0 0 0.0 2 0 0.0 0 0.0
B H 0 0 0.0 0 0.0 0 0 0.0 0 0.0
X & 0 0 0.0 0 0.0 1 0 0.0 0 0.0
A 3 0 0.0 0 0.0 4 0 0.0 0 0.0
X B 0 0 0.0 0 0.0 0 0 0.0 0 0.0
EF 2 1 50.0 1 100.0 2 1 50.0 0 0.0
t 1§ 0 0 0.0 0 0.0 0 0 0.0 0 0.0
EH 1 0 0.0 0 0.0 2 0 0.0 0 0.0
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RAE | BEAS | EA8 | EAR | RAR | EAS
B 1,102 823 1,477 - - 342 558 1,416
£ A 41 17 35 - - 38 69 138
I 54 50 69 - - 11 13 29
i 17 3 3 - - 14 20 23
il 33 16 32 - - 26 51 32
] H 90 27 61 - - 80 162 101
X & 72 5 6 - - 67 96 5
S 24 4 6 - - 23 26 35
X B 39 26 29 - - 20 30 47
E 5 35 6 8 - - 32 40 28
t 15 40 12 16 - - 29 49 138
EHi 657 657) 1,212 - - 2 2 840

M BEREUBRR NhEReE - RRISEESERS)



